Antwoordenblad proeftoets H4

Opgave 1: 	C

Opgave 2: 	Grondstofkosten
		Vaste personeelskosten
		Huisvestingskosten
		Rijtuigenbelasting 
		Rentekosten
		Etc.

Opgave 3:   
A: 467.388/921.000 x 100 = 50,74%   50,75%

B: Kostprijs: 520 x 50,75% = 263,90 + 520 = €783,90

C: Verkoopprijs: 	Kostprijs 75%: 		€783,90
			Nettowinstopslag 25%:	€261,30
			Verkoopprijs 100%:		€1045,20

Opgave 4:
A: 66500+130.000 :83000+ 360000 x 100% = 44,4%
B: 40750: 83000+360000 x 100% = 9,2%
C: 297700: 754200 x 100% = 39,4%

Opgave 5:
A: Inkoopwaarde in % van omzet = 100%- 35% = 65%

Omrekenfactor: 	100       x	100 x 1,09 = 1,7468
			100-4		      65

B: 	5,68:1,09 =5,21
	5,21 x 1,7468 = 9,10

Opgave 6:
A: 			32 x 28 = 896
			10 x 55 = 550
	Totale directe kosten: €1446
	30% x 1446 = 		€433,80
	Fabricagekostprijs:  	€1879,80

B:	1879,80 + 90 + 45 = €2014,80

C:	Winstopslag 20%:	503,70
	Kostprijs 80 %:	2014,80
	Verkoopprijs 100%:	2518,50
